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> PythonEARE Rl 451
> List
» dict: dictionary
> tuple
> set

> dictionaryB9 £ 17E



dict(=F )

» dictE 2R BlEF - ) REEE B o ERNTNZEH B (key:value pair) -
%?é%ﬁﬂ%ﬂ%wmopping type) - T2 (key) ARSI R EFINFHER
J1E (value)

» FEHRJFIRDIATERIZR - EEE B R

» P BYFRFHBEILUNS TH#, UFSESREZ - T#E, EE—M
» FESHE—TENIER - PIUARNGSFHEITREN T EMEIRIERRSIREE
ZE = B: E=dict() or E={}

E=dict()

E1={}

EA={"one".1,"two":2, "three":3}
EB=dict({'three".3,"two".2,"one":1})
EC=dict(one=1,two=2,three=3)
ED=dict([("two",2),("one",1),("three",3)])
print(ED)
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» dict(FH)[E ﬁ@%%ﬁﬁﬁJIIEEV?Zﬁ

»dict(FH)AZEBERERF(+)  EEESLF(¥) =
§|ikh¥([]) FEREE T ([start:end]) s Efth B)|E 7
MEENES

-dlc’riiﬁlrﬁﬂ not inBRE -+ - ARmEIEENEESE
FEFH

» dict iz #&== Hll= - EMLLEBRES Al A E R dict




dictBizs: Frig - fIfR ~ BX

» i (key) /B (value) ¥ FERI )14

pwd={'Justin':10912398, 'John':10812890}

print(pwd['Justin'])

pwd['Helen'|=10897281 #add key value
d['Helen'|=10897310 # modify value

print(pwd)

del pwd['John'] # del keyZJohnHVkey value

print(pwd)

print(pwd.items())

print(pwd.keys())

print(pwd.values())

print(pwd.get('Helen'))

Add or modify:
dict[key]=value

Delete
del dict[key]




dictZigs: #r1g ~ MIER - 2 (cont.)

D1==D2=> D1t D28IZHER B - E[ETrue
EA={"one":1,"two":2, "three":3, "four":4, "five".5}
len(EA)

#1s5 Fforid Bl E AL dict P ARV i B £
for key in EA:

orint("## 4" key,"FTE LR ER" EAkey])
EA.get('one") #E[EIfEAE"one" ¥ RY1E
EA.pop('three") #flliRiE A three"BV#E {EILE[EE
EA.popitem() #fBR&x & —1@& & (B &[] 7% i B £




=]

Dictionary_#R 2 Z8

EA={"one":1,"two":2, "three":3}
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EB=dict({'four":4,"two".2,"one".1})
EC=dict({'three".3,"two".2,"one":1})

@1'one’ =& EEA dictiA
il 'ten’ =G FEEA dicty
i1 EAEIEBE & AHE
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7 H (dict) K=

®» [en(dict_name)
» dict.copy()
» dict.get(key). get its value
» dict.items(): get(key,value)
key in dict
» dict.keys(): get all key in dict
» dict.values(): get all value in dict
» dict.setdefault(key,[value]):z3& EkeyHvalue (FBEE Rl key)
» dict.update(dict_new)
» fromkeys() 7 /E 1R RAER B Avalue KBl 2 —{EH# 80 5 H




dictZ/EH -+
wWigkeyiE ~ BFR ~ BEdict KRG dicts

EA={"one":1,"tw0":2, "three".3}

n=EA.setdefault(“Ten"”) #oJXEdicCtHAR
EA/new=EA.copy()

%T(EA_new)

EA_new.clear()

print(EA_new)

EB.update(EA)
print(EB)




dictR1EB+:

seq = [name’, 'age’, 'sex’]
segl=[John',19,'F]

seq2=90
dict2=dict.fromkeys(seq,seql)
dict3=dict.fromkeys(seq,seq?2)
print(dict2)

print(dict3)
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MMAERE SZEIET

survey_dict={}
market_survey=True

while market_survey:
name=input(";FEIA L")
travel_location= input (& 2] ik B 24:")
survey_dict[name]=travel_location
repeo’r=inpuT("E‘§E/\§=& JimhimAE (y/n)")
if repeat.lower() I="y
morke’r_survey=FoIse

print("MFAEBRAER:")
for user, location in survey_dict.items():
print('%s M 4]k F6E %S '%(user,location))
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